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Direction : Answer the following

» s N
g Questions by selecting the most appropriate option.

1. woash Rer RrerfifRee =
¥ P X Ef@?:' a : 7 1. Which of the foﬁl?owin should b
SRR EA R = A g not be
7 O TR ? gehell a need of children with impairment
L from the point of view of inclusive
: education ?
() & A Frgwar ¥ fgey
) s 8 % (1) Ne‘ed for coping with own's
= Impairment - 7
2 - -
& FRee. g R E ) (2) Need for proper guidance &
GG hl counselling »
_ =0
(3 Euil W R w© &) SIEREETS | ﬁ Need for being dependent on
etoe aepe
others -
(|
(4) Heldesh IUHN B AEIGHT (4) Need for assistive equipments
& ﬁﬁ?’ﬁﬁ C éﬁéﬁ faem e 2. Match the following stages of
frfaRaa ofawmelt & S fasiwar Kohlberg's moral development
& aYg '@aﬁﬁ HIfoTq theory with their characteristics :
A mﬁ CEIL G Moral Stages Characteristics
@ FM & ded H @) AU B P (a) Conforming j) Getting the approval
aqgtna?{ obtain reward of others
(b) g I (ii) Wﬂ‘lﬁff 9T myiia (b) Maintaining social[\(ii) Stage based on self-
T TEAT T order interest
(c) B FATRTE (i) TREHT & A (c) Good interpersoo iii) Eternal value accepted
HEg M Hed relationships - : by conscience
(d) g A (iv)E T P &l (d) Universal 1 ethigal’ (iv) Importance of justice
e © HEd principles _ .’ and law (- rs'
Hﬁ? FH g7 BT Choose the correct code : L~ i
© (@ @ ® ©@ @
G (i) P - ORI I
G)  (iv) W@y (g AV
@ i) @) Qi) LGy @) o D)
) Gid) (@ @ESGD S0v) Sn)
P.T.O.
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3. AU SV s & foe Fysffe @ 3. Which of theo following ways of

instruction iscsuitable for hearing

o Ty i o impaired chilfren ?
(2) iR W, (a) Sign langtiage
(b) SR &+l (b) ‘Finger spelling| "
(c) S G - (c) Lip reading,—
(d) @ﬁﬁ YT, — | (d) Cued speec
Wf‘" 2l W Pl : ~Choose the c?frect code :
M) @ @ (o) (1) (a) and (e
() (@), (b) T (c) (2) (@), (b)ar@ (e) .
®) @), () @ (@) (3) (@), (¢) and (d)
4) (a), (d), (c) T (d) Mg), (b), (c) and (d)
4. Feiofed & & A9 orgeRe @ 4. Which of the following is not
T 787 erar ? ) : influenced by heredity ?
() SRmar (2) aREh (1) Aptitude  (2) Attitude
@) da (4) sty (3) Emotions. P Interest
5. fFelefed & @ @yt forer 5. Which one of the following is
H TH 9eh 7gf & ? mot a component of progressive
education ?
(1) feem-famst : (1) Discussion +
(2) BT .. ) _A42J Memorization »
(8) B e (3) Experientation «—
(4) Fq:fepar (4) Interaction .- -

iy

_ Ne
6. Which of thg following types of

questions is et suitable for testing

stud_ggt_‘s glgg;gjs_ig_n_ of ?eeli:;lgs

and logical thinking ? = =
Analytical type - >

(2) Critical type .«

(3) Discussion type v

(4) Multiple option typer
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ﬁ'ﬂﬁl’ﬂ@ﬂfﬁ"ﬂ%ﬂmw@;ﬁa%
SR A BE-T BT T ?

(1) W B o ¥ A R
B HET Har B

(2) = 9 qH-7E GE T 59 TF
Y R &9 8§ ey 3 R
R T o

(@) R qRuEa SR e @ I
RisolTo )

(4) GRaga & HEel % SrEE
e B A e o § A
R o FREd g @ o
Hehll &l |
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1. Which of the following is not a
characteristic of inclusive education ?

(1) It supports special educational
needs v~

(2) It says to celebrate diversity |

(3) This ensures the participation of .
teacher, parents, child and society

A4 It is limited to the special

education of disabled children *

8. Which statement is incorrect about

the development and its relationship
with learning ?

(1) Deprivation of learning
opportunities limits

development. P ¢
(2) Children can not learn until

they are developmentally ready
to learn. 3

/%’Development is the product of

maturation and learning. o

(4) Despite the limits of maturation
the 'develoi::me;nt can go beyond
a c;ertain Eoint, whe)r_.l _l_eqming
is ez‘:lcouraged.\./v

9. According to McDougall, the emotion
of 'disgust' is associated with which
basic instinct ?

(1) Repulsion

(2) Escape

% Combat

(4) Curiosity
P T. 0.
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10. =i ¥ goeiiger @ ge@r 33 &

|
3

11.

12.

13.

Rt &1 frfafas % @ S-ar 38
e 87 g ?
(1) Fafes @S F 3

(2) Ao R

(3) We-grgamt Tl @ s
s )

HYAT
(4) FHIH Fewier 3 fw sipia
HAT

ﬁtrf%f@aﬁ%ﬂq%ﬁar&mamﬁ
a%waﬁm:rs?%?

(1)%%@%%&@%%

() T IR § s o 3

(3) 9 i &Y q dfery A ¥
(4) q HRTF WY § G Hemy By

fFrefifem & & #9-@ dra 3 a@
FfEd fafy 727 % 2

(1) st

(2) &3 g9

(3) BT STRT
(4) SIASTT

Frfefed & & $9-9 999 @@ a3
T d [GSiwar 78 & 7

(1) TR Bt
(2) T T A oy

“:ﬁgs)iﬂaﬁﬁﬁlﬁwﬁm

(4)%%@6&&#%

3/5317]
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10. Which of the following is not ,

11.

12.

13.

helpful action of teacher in promoting

socialization among childzen ?
Giﬁgg the individual project
work &«

(2) Assigning social responsibilities®™

(3) Org‘anizinhg_//( co-curricular

activities
(4) Motivating for social
- participation’y:_~—

Which of the following is nof a
common characteristic of deprived
children ?

%I‘hey look physically challenged @
(2) They are socially disadvantaged®
(3) They are economically deprived >
(4) They feel erpotion_ally inferior Ag

Which of the following is not.a child

centered method of learning ?

(1) Derﬁ'oﬁstratiq.nfu/‘; :

(2) Field Tripw
Mrogrgtm;med Instruction ,

(4) l?,ro_ject'-'

Which of the following is not a

feature (oh: | continuous and,
comprehensive evaluatiqn ?

(1) Regtllarity of assessment
(2) Frequency of unit tests .—
(3) Diagnosis of learning gaps*"

Measu}'ing only  scholastic
achievement:
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14. ﬁ“rﬁlf@ﬁﬁﬁﬂﬁ—mmqaqﬁmzﬁ
Rr=ter & wdw & gft 727 » 7

(1) ¥R B o7 o R

SR E I %),
@) RS T W g
RIS e e ¥

(3) ¥R T BT W
qreraRer e ?, % e
el ,

@) RS Bear g W @
THE g 2

15. & 3 WIS gu Remr 3 gg)
AT (FRE 1) &1 w7 B -
(1) T TE > BRI w1
I 9D — T FH
(2) At e > = % o
Y D —> HIE HH -
(3) TR FEH - TG BEH
Y FH - fafRre FE
(4) 5@ 3D, > {HE FH —
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14. Which of the following statement is’

not correct regarding individual
differences ?

(1) Individual differences exist in
both cognitive and psychomotor
domain. —

(2) Species characteristics influence
individual differences:«——

(3) The cause of individual
differences is the social

~ venvironment, not the physical
environment.“ .

AQ)’ Age also has an effect on,
individual differences..

15. Select the correct sequence (top to
bottom) of hierarchical intelligence
theory of Vernon : '

(1) General factor — Specific factor
— Major factor > Minor factor

(2) Specific factor —» General factor
— Minor factor —» Major factor

ﬂ General factor —» Major factor —»
Minor factor —» Specific factor

(4) Major factor — General factor >
Sp_eciﬁt_: > factor — Minor factor

16. 'Adisorder of writing ability in which

a learner has;ﬁ_ difficulty with letter

=

forma‘ation, spel;irig, fine _motor

co-ordination etc.' This disorder is

called as : s :
?(Djrslexia

(2) Dysgraphia ¥ @

W DYSpraxiM

(4) Dyscalculia )7
Pagls: O
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@ (), @), (o), (q)
®) (@, (@), (@), (b)
@ (®), (¢), (@), (a)

18. F=fafes & @ -7 Rreror-aifers
F

19. & % dey § iy

D @ T (@) ) o
@ ®) W@ @ @) () v 1
' [Level-3/5317]
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17. Arrange the steps of Bandura'g

social learning theory in sequence .
(a) Perception of behaviour -)
(b) 'Re‘inforcement of behavioyr ¥y
(c) Remember of behaviour- 9
(d) Cp;l_\(ert the memory into actiong
Choose the correct code :
2B @, &, @, (b)

(@) (b), (a), (), (d)
) (©), (@), (a), (b)
4) (0), (¢), (@), (a)

18. Which of the following is ggi_ an
environmental  factor affecting

teaching-_learqing PR

(1) Leairning material
A2 Physical conditions

(3) Recreationa] facilities

(4 Maturatioq

19. Which of the foilowing Statements
reégarding intelligence are not trye ?
(a) Intellectya) development s

Inflyenceq by genetics, net
environment, y
(b) Gender‘ differences do not
cauee intellectﬁal differencess
(c) Sharp intelligence is‘e sign of .
sharp memory
(d) Intelligenge gives the ability to,
adjust in new situations.
Choose the Correct code :
(&) and (h) - (@) (@) and (c)
() (b)and (d) (4)' (c) and (q)
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s ‘ 20- ;:?Qﬂagqf F Qe gﬁ fareren 20. Which tests can be administered
: T e fha s by the teacher to identify creative
| qH € children? :
’ |r (2) P P qger (a) Figure tonérﬁ?uctwn testi—"
(b) SUIX I~IF g0y (b) Product 1m§iovement testh?’
| () SEC IUENT qeror ' (c) Usual uses rest)o
= (@) o iﬁ RAGA (d) Pi;:tur;a -comcl?)letiron test "
m’?é@'{ H T FINT Choose the correct code :
(1) (@ W (d) - (1) (a) and (d)
(2) (b) W (c) | (2) (b) and (c)
®) (@, (b) @ (@) A& (@), () and (@)
4) @), (b), (c) T (d) (4) (a), (b), (¢) and (d)
21. ™ & e foem R 3 21. According to E*’iaget‘s cognitive
YR, o SAHSAl 3T X ST development @lieory, when the
WEer & a9 Sg dedd §9Q learner maintain?qg a proper balance
@ 2, q a8 uRa Fearl.® between himsegherself and his/her
; environment, this mechanism is
S ((:?)H:tlzzjziunodation 3o
@ W % - (2) Assimilation
& (3) HIAAHT (8) Equilibration -~
: (4) THHEIT V@') Integration . ..

22. drEn @ oRffy '@TF]H qeat & 22. In a learning %uation presenting
: g relevant facts sgparately from non-
relevant facts ﬁndmatwe of which
principle of_lealgung 2
(1) Principle of multiple response
Pon Principle of analogy
(3) Principle of prepotency of
elements

(4) Principle of associative shifting

“
ﬁ P ala@®.
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[10/D] i Freud's psycho-sexua]
23. WaE F AR A ﬁl@'—ﬁ f% ggzzggrg;zt theory, the stage in
Y, 9% e ot MR faerdid which adolescent attracts towards
R & ofy orsffa &d ¥ o8 &l opposite sex, is:.known as :
o & Phallic stage
(1) [T S (2) Anal stage="
Eg; ﬁm (3) Genital st;i@‘é’"’
(4) ST IR (4) Latency stage f
Torash ST9TFHT 24. Which constitutional right o
S =t 3 g;ﬂ E’E}Tﬁ?ﬂ% ST Pl a-{ﬁ chilfiren with s_pecia} needs does
FA & ? inclusive education protect ?
(1) Rer & iR ) m.ight to Education - -
(2) F9M &l AHR - (2) Right to Respect=
(3) WHT B ARBR % (3) Right to Acceptance ) 5=
(4) THFT FT SARHR (4) Right to Ir&ggratlon
25. 3= HEAMEH WX B SeFHEAET @ 25. Which strategg;gs of learning is not
e drew @ PE-dr e SUgHd appropriate for the Eearnef of
TR ? - senior secondary level ?
(1) ™ HE ST &R ) FEN %Learning tasks at memory level /2
(2) 9 H ©E G FA (2) Allowing  self-discovery of
. knowledge
(3) T oTT:fhar & Ifd WM 3 (3) Giving appropriate space to
' classroom intéraction“——"*
(4) Tareror-atferm fermeff i & (4) Student centered teaching-
; learning «
26.  frfoiad & | #- A W 26. Which of theu following. gender
FSFQTQ ﬁ'ﬁ’iﬁ k= el ff ‘biased acno@ are npot to be
involved in educatlonal practices ?
(@) Homogen&uus groupmg)é
(b) Gender neutral content <
(© Stereotyped occupation
guidance}d
(d) Teacher's prejudiced attitude«"
Choose the correct code :
@) (@), (C) w (d) (1) (@ and (b) (2) (a), (c) and (d)
4 (@), (b) TG (c) (3) () and (d) £ (2), (b)and (c)
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H TH I ;13‘7%?@'
(1) = g

(2) TrItHE e frQreant -
(3) s <iffes fqoyame
(4) 9IHY I

—i
29. mﬁ%ﬁa@mﬁﬁﬁ%aﬁiﬂﬁ
Brv-ar Reea @@l ? o

30, Pl @ wE SR o e

e (2) P & e T
(@ g F R
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21. Which of the following is not an
acquired motive ?
%ﬁfﬁliation y
| (2) Achievement
(3) Approval}"/- :
(4) Painavoidance»

28. Which of the following is nof an

example of developmental changes

under acqu151t1on of new features ?
(0 Permanent teeth"
(2) Primary sex charactenstlcs

(3) Secondary sex characteristics

/(A')’ Thymus gland ° %

29. Wl}ich option 1s correct regarding
emotions in iazlaig}ﬁes_cence ?
/H‘)%zxt__ense and rational
(2) Uncontrolled and rational
j '(3) Uncontrolled and irrational 2

~ ., (4) Controlled and intense o

30. When the assessment is designed to
evaluate< | student's overall .
achievemez{t and pfofici_qncy at the
er}& ofa learrnhiilg period is known as .
(1 Assessment ef}ear_ning}f’

(2) Assessment for diagnosing >
o Assessrnent for learning

(4) Assessment for remedy

@ R & R e

P.T.O.
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HT -1/ PART - i
WIS (R qd oidoh) / LANGUAGES (HINDI & ENGLISH) 2

= (HINDI)

R : Pt oot @ awe 33 @ Rig qed oftm P g o

o
N

—

31. T ¥ wyw P o) afte @
WWWW@ w

A4 SRS B @ sl vel @

%'W}a
@) iy SR-ax- & w ¥ -
SRAEAES G ,
3) T % Faw REaey gt
B ATEA R - Syt B

(4) TS-FEHR 8 9T REw A &

32. [E 1 ofte & oremy ey -ghw
(1) TP - R |

P R

33. FHfifed § & A9 a9 @1 Ry
TETE '

(1) Sfa @7 o 7fy ST FHTo—

Wﬁwmml
4) &4 T W TEE Py g
A

34, E[ﬂﬂqﬁaﬁvmﬁmeﬂ%mﬁ
E: —(l) .a - 999, Had, m\/\

35. ﬁmﬁrﬁaaffjﬁ HYE T
a7 iferg £ ot

(1) @er qre, 37K, Jere
2) TR, e, feenfdufeg
(3) gHier, Jadl, Frefiwron—

mm! QW: m v

(1) IYHET - TN &2
(3) STIHTE, oSBT Tegey e
(4)%@065@@"

37. ©fY i gﬁ?r% TG e g
(1) SR, TAGER, SFwE - 39 &
- (2) R, fee, g5 - & ah
3) faffaer, oo, gemi - @ 5"

S TGS, Qhe, o - R 6

8. BN segs R Rwas @
N gl
(@) W fRreror 5 R @ s

e

39. W Reced ggmd - e
ﬁﬂ‘l@w{%ﬁ
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FAT-IAT FX A &, W @ F § H&q
o ¥, W qE PR B B A B R A
A 3 FRERA U P EEEY AR IFDh FHER
3 o= a8 98 ©® o, 9w A e w®
qe o ¥ 5 oS S QI G ¥, 98 FH
T o R e & e el gel
o T, Al RIS T F g A
EHT A FAAT e I S Feben T T
2 @Y AT I T g A A we b
HEq & S ¥, W SRR 98§ & O A

T AR @ T b g ARy

qﬁﬁl’m T& & G o Fd 8,
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(1) B8 7Y 3 g
@) A Fricr @ g2
AOT U BT 2 7 g
() 73w A g
2. Frfefee & B fvar mom g

(1) 93 %1 7wl w3
IR E—— X

oRadsm ¥
(3) AYH 7 e & shar ¥ \o
(4) FIEma a9 soad=a 2 3

43. BIT-T T FA L 7
0 At A &fe & o Fm §
B 8l O :

(@) T T R T e
Tt e -

(3) T AR Ry A -Tam @

(4) Afefos T F F7 AT R
44. T feFS B ®

(1) 9 98 AR er=" b

B0 a0 . O

(3) T IHH FHHT B

(4) 79 T€ YU & T b=

45. fbg fee @ qEf® RS A
(1) P o R, @ T @
W|WW° .
N RAN RINEICER i
3) 09 qx FHl faga Ha- B!
E4; Eﬁq% T
Il PPN

i:g RO
e
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3T / ENGLISH

¢ selecting the m
Direction : Answer the following questl_o_l}_sfl_

46. Fill in the blank with the-correct

option :

............. skill involves training the

learner. to listen for the English

including stress
and intonation patterns.

A7 listening

(3) reading

speech sounds

(2) aural-oral
4 1.1'ur:riting2-d

47. Fill in the blank with the correct

option : 4
The two kinds of listening
ERTE L it o : ot

/Q)’ active and passive .

48.

(2) skimming and scanning z
(3) intensive and extensive’

(4) referential and inferential

Choose the correct option :
Assertion A : The disadvantage of
print material is that it lacks
interaction and the use of audio-
visual elements. T

Assertion B : Print matenals are

not portable, not eas1ly avaxlable ‘

and are pot‘cost effective,

(1) Aistrue;Bis false

(2) Bistrue; A is false
’ﬁrjoth A& Bare true

) Both A& B are fa]se

i

evel-3/5317 ]

GET IT ON
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ost appropriate option

A

49. Fill in the blank with the cop

option :
Teaching learners to  discygg :
poem in English in their Natiy,

languagg s an instance of the g

ofc.kf]

(1) eval@tive comprehension

/42‘)’ multgngual resources .—

(3) pre-readmg skills .
(4) first language acqulsltlon o

(Q. No. 50 to 59) : Read the
and

Direction :
following poem answer the

questions that follow :
Mothe.r, Iam thgone

you sent away g

when the doctg?Z!toId you
Iwould be /A

a girl —In the end they had to
give me an injection to kill me.
Before Idied I hearq

the traffic rushing outsidé the monsoon

:ﬁzglb the wind sulkmg through

your beIo/{ed mbaj —
f""‘&_‘ —r——
I could have clﬁhed the neon blue
no one Wante@
No one wanted~

To touch me — except later in the

autopsy 1oom
when they knew my mouth would not

£
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k]
] for anything — anq my head coulg e
be Look for me, mother, because

Mmeasured

o] , ’ ) ™~ LA
and bent cut apart. this is not 'God's will’, ‘o

. 1o o
[looked like a sliced Pomegranate ok for.me, mother

because I smel] of formﬁc’iehyde -

The fnut You never touch _d, I smell of formafdehydem

other, I a
M m the one Jyou sent away and still, I wish you would look

for me, mother,

When the doctor told you

Iwould be a girl — your second girf.

Afterwards, as soon as you could 30: Who does the gir] address ?

/(al‘)" the doctor
you put on your grass — green sari - B

(2) the society CS

the orange stems of f the Pf”litak (3) the fa?ﬂe—r . g

Plossors, @ ths thother |
glistened in your hair — Q
Afterwards | 51. In which city does the foeticide
everyone smiled. % EiE placle ;
But now I ask you Y E; 2:1:“1
to look for me, mother, _ %Mumbai
look for me because b

I won't come to you in your dreams,

Look for me, mother, look 52. What does the killed infant smell

20 of? . Rlas R b
because I won't become a flower _.1,,) ; s
| ormaldehyde+.
Iwon't turn into a butterfly ( = =

2) parijatak > N
(2) parijatak >~
(8) chlorine —

: : =
Lotk /@F)/Slush- A
look for the place where you have

sent me. 53. Who is "I" in the ?p_eningFlimle 0
| (1) the poet b
_ 2y 'the killed infant girl ,,

And I'a_:_n_not a part of anyone's song.
|

Yy Laok for the unspeakable.

~:‘| for the place that can never be described. 3 ,\__ther :
] ok for me, mother, because E; tmho d C{Z ﬁ
 AOL LELCy e do _
is what you have done. - b T.C
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54. Fill in the blank with the correct
option : - ~
According to the speaker the
mother disliked .......... :

(1) oranges
(2) parijg?ak blossoms ¢

487 pomegranates

(4) the grass-green sari

e

55. Find a word from the poem Which
means "post mortem" :

(1) formaldehyde
(2) injection to kill

_~£8) neon blue
(4) autopsy

56. Why was the mfant in the womb
killed ? 3 j
(1) because it was defectwyo
(2) because the ' mother didn't want
a second g1r1 chil

Moctor s mlstake AO

(4) it was uglw

51I. Which one of the following is used
as a literary device in the poem for
~ effectiveness ? ' i

.[ r@) repetition %

(2) climax_

GET IT ON
ﬁ Google Play

58. Fill in the blank with the correct

option :

¥

"I looked like a:;liced pomegranate"

is an examplea;(\xL ............. .
.'_..|

(1) metaphor E

ﬂ an implied simile
3) irony;o

(4) simile}

59. Find the word in the poem which

means "shonerdue to being wet".
e

(1) glistened g

fears’ulkmg ~

(3) clutched

il

(4) blossom
60. Fill in the blank with the correct
option :

Nesfield's grammar is an instance

(1) universal

(@
,lfﬂ cognitive

(3) descriptive

(4) prescriptive

-
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— 1l / PART —

=4

7m

am'lﬂr HEGg / GENERAL STUDIES
ARACTD G,

REASONING ABILITy
: F=foRag M

fdsT

% IX |

Direction : AnSWei;.’\l'le followin

61.

62.

63.

GET IT ON

Google Play
L1770

AL G415 B e 2
/ QUANTITA
AND G.K. & AWARENESS TIVE APTITUDE,

o wed o fe gf

g questions by selecting the most appropriate option,

g @R P, Q, R s, 9% T o
WW%C@[WWW
%%Rﬁ%%ﬁ%lﬁrﬂa@faﬂm
Wma%qﬂ'a%mpeﬁwoeaﬁa

S

1) Q £ 2R
=

3) S

®) Sah

g & SAAEK TEW H ST 748

F 3 s TR 14 T R TR

a@ﬁmsﬁﬁ%umaﬁm—aﬁ
TR B

1) 0.25@@ '

(2) 0.5 @

(3) 1.0 41

(4) 1.5 |41 ¥

I 10 REEE2022 1 AR o, T

g fegmt, 2032, P Pr-a1 A B 7
L
A

(1) 9FER

(2) @

. (3) E'mWT

61. Five men P, Q, R/ S and T read a

newspaper. The one who reads
first, gives it to R. The one who
reads last, had taken from P. T was
+"not the first or last to read. There
were two readers between P and

Q. Who reads the newspaper last ?

10 g
1 (1) Q @ R’
7ﬁ : 3) S T
' 62. The volume of the metallic

cylindrical pipe is 748 _cms. Its
length is 14k_cm and its_external
radius is 9. cm. The thickness of

pipe is equal to:

(1) 0.25 cm
(2) 0.5 cm g‘ﬁ
(3) 1.0 cm
M.S cm
635 I 1t was Saturday on 10th

December 2022 what will be the
day o 8th December, 2024 ?
(1) Satu‘rday §
(2) Sunday
/ Monday
(4) Tuesday

p.T.O.
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64. A P R X, vk zus dfed
B YR zwg & E R A
ofk ot oz ¥ R, A D T
AR Y p B www aEl O B
BT R 7

(1) X

G C)
A qul

ﬁiw%

@) Y
) Z
65. = o & ovmr W@ D

AGS CK 21 ‘IlEO 45
oot "exologt - o bl )
78

(4) R

710261

66. A C# i ® & D, BFG ¥ E,
AF IR C,DH qav 3 - B E3

o s e 2 7
[ ot

er
%
ff\,

GET IT ON
\T s Google Play

64. A, P’ R, X, Y and Z are Sitting in 4
row. Y and Z are in the centre ang
A and P are at the ends Ris smmg
on the 1mmed1ate left of A, Who ig
sitting on the 11;n_megi1a_tg right of P2

() X 2 Y

@) z /m%

65. Next term of the following series is -

=TT 2
d ) ! g’ j ’
(EJ'ZS, ?
I .
l 127
(s
p

/ 133
@) IVJ

/(IW]IZO
\ P
; ‘ 127
o[
- q
3 J
66. - A is father of C and %@Q

is brother of A. Cis sister of D.

&

1 How 1s B related to E ?

Ty
)

(1 ) Daughter

{5&)’ Sister-in-law

(8) Mother
(4) Husbang
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68.

69.

To.

5 _&i‘__ &)

’ —
X©)
2,9,28,?, 126, 211('_:\1)344

(1) 37 ([zj -
(2.9 (@ 115

P 3 45,000 57 & ugp
1:aﬁ'ﬂ"\ﬁl—{ig‘:":““"ﬁ«'Q:30,1:30()%;{?:;{
T W TR g AR % o
ﬁm@fmﬁazl%mﬁ
ster T, A Q FA whuf gon ?

(1) 3 HAE 9

i
(2) 4 HE 9 g
(3) 5 HE 9% E
(4) 6 HE 1% P
kx| R ol IR ||
(1) a4
(2) e
3) 9d
4) T

ug fidEd e AW # "sun shines
brightly" H "ba lo sul", “hous_es.
are brightly lit" ‘E_hj "kado gla ari
pa" 3T "light cordes from sun" @l
"dopi kup lo nrey fr@r Sl 3l
sur T “brighy’ ¥ R FE
R e = @ @ TE 7

() sulba

i Jiedod

@) sul,lo

(4) lo, ba

GET IT ON

Google Play

[19/D]

61. Find the missing term in the

following number series :
: ‘.?:. 9,28,?,126,217, 344
(1) 37 65

(3) 91 (4) 115

68. P begana bus_iness with Rs. 45,000
and Q joined with Rs. 30,000 after
some time. If the promnd
of the year were divided among
them in theratio 2: 1, whendid Q
join ? RS b

(1) after 3 months
(2) after 4 months
(3) after 5 months

/ after 6 months

69. Line:Square: : Arc.: ?
(l)rRing |
(2) Sphere
) Circle’
(4) Ball.

=

70. In a certain code language ”su?
shines brightly" is written as "balo
sul", "houses are brightly lit" as
"kado ula ari ba" ‘and "iight comes
from sun’ as 'dopi kup lo nro".
What code words are written for

3 = ,P‘
"sun" and "brigﬁl_'ltlgr" respectively !

(1) sul, ba
(2) sul, lo
(3) ba,lo

ﬁlo, ba

p.T.O.

TN
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[20/D] i
71. 3R tan 0 + sec 0 = 4, @ cos O F

Z2.

13.

14,

15.

 [Level-3/ 2531 7] 1 "j

9 SXER R

17 8
) ‘et - 1
(1) 3 (2) 17
15 17
2 Ly
) 17 @ 15

2880 H T adygAM & forw Bl
S8 ey ¥ Rwlm s
ity ? =

—.|
@3

(4) 5

W10 B @Y awd ¥ e B
T TR 10 Rl g ¥ o
TR T AR ggH q FHE: 5, 15
AR 16 Rl wwt ¥ oy wRiwe
%ﬁﬁmé’fﬁgﬁg%?‘

~

(1) 20 fHHt ; (2) 15 el

@) 10 Bl A2 (4) 5 fedt

qﬁéﬁa@ﬁs:z:s%-agmaﬁ
W IR T % 5 gemelt 3 a o
3T 1862 % T ¥ A A wey

ST B _
1) 7 @14
(3) 21 5 (4) 35

(1) 2a% =3p? (2) 3a? <pp?
(3) a*=3p% (g b? =gy

4%

71.

12.

13.

4.

15,

GET IT ON
Google Play

HIRE RO OIS, e thg
of cos 0 is equal to : .

17 2 8
(1) 5 @) 17
15 17
(3) E 15

What is the smallest numpg, by
which 2880 must be divideg -
order to make it a perfect SQuare 7
(1) 2 (2) 3

@3) 4 %5

Rekha walks 10 km straight apg
then turns right and walks 10 k,
Then every time turning to her left,
15 and 15 im
respectively. ‘How far is she now

she walks 5,

from her starting point ?
20 km (2) 15 km
(3) 10 km (4) 5 km

-If three numbers are in the ratio

3:2: 5 such that the sum of their
Squares is equal to 1862, the
middle number is equal to:

(1) 7 2) 14 @
(8) 21 AT 35 '
A square and an equilatefal

triangle are inscribed in a circle !
a and b denote the lengths of theit
sides respectively, then which o
the following is true ?

(1) 2a% =gp2 3a® =2b°

) a?=3p2 (4) b?=2a°
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=Y 1 T T ey q
5 FCI'Q %[ W T 2
(1) 2,000
(2) 4,000
(3) 6,000 =
QN
(4) 8,000 2
}_"--.

77. R AW H g ww ¥ g

@)li2
@) 1:+2
) 1: 22
4) 1:4

78. ﬁwaﬂfaﬂﬁwgwmwaﬁﬁm:

10261

MQNRO, JSKTL, GUHVI, DWEXF, ?
(1) AYBZC
(2) AZCYC
(3) BYBYD
(4) BZCZD
0 ¢
79, 5290 W ¥ fft A, B AT C T
o @ @ O R A B A
R FA H IE% a7 foeeey g0 A
2 SE TR Bo F awEl ¥

() 920 (2) 900
(4) 880

)
O

1

~ (3) 880
Level-3/5317]

i

GET IT ON

Google Play

[21/D)

26_. The difference between

compound iterest the

and Simpl a

(1) 2,000
(2) 4,000
(3) 6,000

(_4Y78,000

I1. The surface areas of the two

spheres are in the ratio ] : 2. The
ratio of their volumes is :

(@)l
@GR e R
3) 1:2y2 %

/(Ad’l:'él

18. Find the next term of the following
letter series :

~ - MQNRO, JSKTL, GUHVI, DWEXF, ?
(1) AYBZC
(2) AZCYC
(3) BYBYD

_(4y"BZCZD

79., A, B and C together completed a
work for Rs. 5,290. A and B

=9 5
together did —2—5 of the whole wor

Amount received by C in Rs. 1s

equal to :
920 (2) 900
3) 880 (il etd

puiO:
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£

80. % U & F o, Praer S
8 Hllo, 9 o @ik 12 o Fwsl a@
A AN queR &5 & duea @
ST Bl B, SwEy §

(1) 16 Ho
3) 18 Hlo

(2) 17 Ho
(4) 19 Ho

81. 379 TWGTS oY xafiiey A
H A T DTy o7 ?

80.

Wm m

81.

The radius of a circular fielq
whose area is equal to the sum
the a{Ja of the three circular fie|dqg

having radii 8 m, 9 m and. 17 m
respel_'g_'{ively, is equal to :

(1) 16m (2) 17 m
(4) 19 m

Which of the following was the
theme State for the 37th Surajkund
International Crafts Fair ?

(1) 757 ;w1 % Madhya Pradesh
(@) TS (2) Rajasthanyo

(3 APgR 3) N@.ipury

(4) ToId

82. BT R AR vewa R 2023
F AYT TR AT ey ?

82.

(4) C@am

@
The wgnan wrestler of Haryana who
received the Arjuna Award of 2023 ?

(1) fom gare (1) Antim Panghal
(2) 9ig A % (2) Anshu Malik @
(3) ftepr SrEs (3) Geetika Jakhar
(4) TnEh Ak o Sakshi Malik

83. T afwE F IR A P

T B AR e

(B) A H TR IRER ToEg 3
Th AEH 3 S R am

(B) IfiE & oA ¥War a2

83

. Read the following statements about
- Pehowa Inscription : ‘
(A) The inscription was issued by a
ruler of Gurjs ar Pratihar dynasty.
(B) AE;DEI the ins_c;ifa_—_tzgr_h Pﬁhn_wa

ARE F & A TR s & famous market of hozge
&l T B TIT HRT : diglers. [
Choose the correct code :

() %99 T (A) T9 2

. (2) %99 FUT (B) G I

@ T @ T (A T & FHT (B)
T 2B -

(4) 3 T TH E

[ Level-3/5317 ]

(1) Only statement (A) is true.

(2 Only statement (B) is true.
(8) Neither statement (A) nor
statement (B) is true.

(4) Both the statements ’_ar.e tme)o

23
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84. ﬁ'rq'%'ﬁgﬁ

85.

& gonih Ot g e §
% 78 e B
foe]

-(S)WW

5
TR AR gty

®) T ey

(B) STRM™-u-gyey i %wwa
©) 9 ¥ F7 meay - )
Wiﬁewaﬂwﬂﬁq

(1) (A)W(O)

(@) A T (B)

3) (B) T (&)

(4) &), (B) T (C)

W@Eﬂn%mﬁﬁﬁﬂ%ﬁaﬁﬁ

- B F ¥ 7

A) SEH T W D w F o
PRI F gEAE B

(B) Sk # G-‘@i‘l’r A adl @
=T Ao

(C)%WWﬁWﬁ@
g

aﬁ@waﬁﬂﬁﬁmr

(1) 39w F4F (B) T (C) T B

(Z)WW(A)W(C)Ha%I

3) 3a@ F9T () T B

(4) FE (A), (B) T (C) T T

Frfiae # & Feaa #Ee @ GEl

(1) To o et
(2) o o Tl

GET IT ON
Google Play
[23/D)

84. '
4. Which of the following

Correctly matched » ¥

(A) Gujari Mahal <. "Mtisar </

(B) A:ram—gd(ausar =~ Narnaul

(C) Tomb of Sheikh - de\p
Tayyab

Choose the Correct code :
(1) (A)and (C)
" (A) and (BY
(3) (B) and (C)
(4) (A),(B)and (C)

85. Which of the following statements
about Sir Choturam are correct ?

(A) He began his career, as a
Congress man—

(B) Later be joined Unionist Party."

(C)He~ Was_a Miniter in_the
government of Undivided
Punjab ‘ ~ ;

Choose the correct code :

(1) Only statement (B) & (C) are
correct.

(2) Only statement (A) & (C) are
correct.

(3) Only statement (A) is correct.

ﬂ Statement (&), (B) & (C) are

correct : \

86. Who among the following did not
serve as the Chief Secretary
during the "Chief Ministership of
Manohar Lal Khattar ?

(1) S.C. Chaudhary - @
(2) P.K. Gupta -
(3) Shakuntala Jakhu.

LAk Vijay Verohas, -

p.T.0
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87. ERTOT & [ar AT d qYH STH

88.

89.

TP -
(l)aa-qﬁrf%i%‘\ao
(Z)awrﬁaﬂt-yw
(3)%%&
(4) T QS

Pefofe ¥ @ dea 7@ @
IR Rratfoes geifeal A orafed
k2

(1) SRR SRS
(2)%3ﬁrra\mum
(3)@aé-m=rmm

4) WW’%‘W

Fraffed § @ A-ar P Jedw

9 7 fewa 78 B ?

(1) F=R
(2) g
(3) fmart
(4) el

GET IT ON
Google Play

g7. Who was the First Chairmg, o

Haryana Public Service Commission?

(1) Dalbir Singh '
Darbari Lal Gupta.

(3) Bhim Singh’”

(4) Manoj Pandey )’

88. Which of the following wild ji,
sanctuaries is located in Shivajj,
hights ?

(1) Khaparwas Sanctuar

(2) Bhindawas Sangtuary/w
ﬂ Khol H_i—_l_igjitarn _S_aggcfyaryx

(4) Nahar Sanctuary -

89. Which of the following districts is
not part of Rohtak division ?
(1) Jhajjar
(2) Sonipat

(3) Bhiwani @
)A’( Rewari

90. Where the Ind1an Institute of
Informanon Technology is beind.
set-up ? -

(1) Kilohad .

(2) Baraut—
Pipali Khera

(4) Rasulpura
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GET IT ON

Google Play

ﬁ.ﬂg [25/D)
~
P o
) O
electing t]?f most appropriate option

91. Which of the following is a sex-
linked Mendelian disord.er oo

- henyl Ketonuria
" (2) Haemophilia*?

(8) Sickle cell anaemia »o

-
O

N
(@'Thalassemia)a
o

€3]
92. Richmond-Lang effect is associated

with :

(1) Delaying of Senescence

f]

MO;EMISeeds o
(8) Leaf Anang_(-:\_r_nggc

(4) Flowering of Plants )7

93. Which of the enzyme of citric acid
cg%e is membrane bound ?
'.D A % e :
q‘j Succinyl Co-A synthetase
(2%J Malate dehydrogenase -

(3) Succinate dehydrogenase

m-ketoglutarate dehydrogenase

p-J: 0.
£
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=L v

i34

94. % JARF (MR F TR W

9S5.

96.

91.

(1) 50X

~ [Level-3/5317]

&R FEme gy s 2

(1) Fors s

(Z)Wﬁzﬂﬁ

(8) HHH T YATcHH AT Al
N

-
(4) B b T &
a

Ffied & & B-a1 Fa9 srdreEe
% fow 99 7L 7

() dTERE  oren,  geEhE

ST ¥ fev ¥
2) M= 3 w97 emaggs B

(&WWH@%@#'&
MRECIMER! SE

(4) e mﬂmm'ﬂ
@m%m—?
o

% fafire ¥ ) gdE 9o w®w o
qE SN are Sifad ‘Gerd @ mEr @y
el T 2
(1) T o1Fe,,
(2) T sre/Es) wag
(8) THA IS
(4)m2rlﬁzsma'cw

r-—i

qgaﬁq\ewﬁﬁqﬁ%ﬁmﬁ'e

(3) 100X

94.

95.

96.

91. What

GET IT ON
Google Play

The regulation of Lac Operol-lh
repressor protein is conmder@

as:
(1) Negative regulation
Wositive regulation
(3) Both negative and POsitiy,
regulation
(4) All options are wrong

Which of the following statemeny,
is not true for bryophytes ?
(1) Sporophytic = phase
dependent upon the
gametdphytic phase.(_~
(2) Water s necessary fo
fertﬂlzauon S
(3) Only the spore mother cels
undergo meiosis.
Sexuai reproduction is
amsogamous type ¥

The amount of living matter
present in each trophic level at.a
partlcular time i 1s called as :

(D) Standmg state =
(2) Standmg crop)0
Gross productxvny

(4) ana.ry productlmty/xo

will  be the
magnification

40X in a compound m1crosc0pe 2

(1) 50X 20 X
U 100 X

(3) 100X

total
if the eye-piece
lens is 10X and objective lens 1s
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y

L 98 T PR 6 e ey y

(I)Wﬁaa%{

N
@) T9% & a9 ©
(3) T & g O
@) 7P} g7

99. ITH-I H Ffew-Ir J Tl Fiftw

m%ﬁ'ﬂwwiﬁmﬁl

F& I F =TI_FiT
Vo)

P - I QN

&
@ T aFREER )
- a

FEH -1

I (R I £
A% aofr

_ % P.T.O.

GET IT ON

Google Play
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98. Hepatic portal system starts from -
(1) Digestive system to liver

(2) Kidney to liver

% Liver to heart

(4) Liver to kidney

99. Match Column - I with Column - I

and select the _wg, |
using the g@eigileg below :

Column - I Column - I1

(@) Complete (i) Haploid male

Parthenogenesis Parthenotes

~

(b) Arrhenotoky ii)  Exclusively

female; male rare

(c) ?helytol.cy_ : (iii) Cyeclic

Parthenogenesis

(d) Incomplete' iv) Diploid

Parthenogenesis

d-2
1

Parthenogengsis
Codes: |

@ ® © @

O ., ("
@ @ @ W

Mii) @ e @

@ ) 09 g Oy @
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100. PEH-I F HAW-II § Gafera HfoC
aﬂ??ﬁ%ﬁqn‘iwqﬁmﬁ

o
-1 ~  FW-I
(@) SMfH () o 7l
@ 9
ST
(b) T (i) Spfc A
o ST
b i =
(c) ofdT & oty
1
[‘-.
) qr'[’{ ;ST C (iv)seTeraTeTTT
%e -

(a) -(’b) © (@

M) G @O G (v

"/ N'

; (e
@) (v) GG )

(i1 ‘\ D

@ ™ O G

(iv) (i)

GET IT ON
Google Play

100. Match Column - I with Columan .\

and select the correct ansy,

using the codes given below :

Column - I Column - I1
(a) Oparin () Use and disuse
organs
(b) Lamaqu (1],) Evolution h‘l
natural selection
(¢) Darwin | (iii) Saltation

(d) Hugode Vrie;:sJ (iv) Abiogenesis

—_ .

CQ& @) (i} (i) G

4) i) @' @Gv) (i)
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€ of i

= (c) HMEl IHh

g
D710261

&
S

@(iv)

) T
(ii) STy
(iii) TYaTE

(iv) T,

© @

) (i)
(iii) (i)

v) @

a @

GET IT ON
Google Play

[29[D]
101, Match Column - I with Column - o
and select the correct answer
using the codes given below :
Column -1 Coluran - 11
(a) Sclerenchyma
() (i) Hydathodes

(c)

(d)

d.:l’ ) (bﬂ (ST (

O v @ G | ai

[\

@ @ O | @ |6

|

@ G @ @ [0

) ! ¢
/ (i) (iv)) G~ @
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02. W@ { IUUEE F WEAR T A
: st & aRadd @) ... ¥ gfn
4 ®) .. gfshar @ B &

(©) ... 2R Seaita ¢ Rar o B

Ra M gef & "o § R wwl

H I HFT
Zc -

@  ® ©
1) 7 A

g 9

(2) I FeA-e4cT b
@) TP FH-EHE T I

(4) 0 % TH g%

103. Pl # & ad @
I
(1) &l FrEore a0 Ui or
I B 2

@) FelpFT a0 RIS # I
B 2

ucmﬁs%vf TAEE B

GET IT ON
Google Play

102. Ammonia which is produced by
metabolism is converted into ure

in the (aﬁ'&... of human beings b‘:’
the prde_i?ass o£ (b) ... ang
excrete&rsut by gc) ...... :

Filling the gaps with the help of

given codes .

Codes :
(@) (b) (c)

(1) Kidneys Krebs cycle Liverﬁy
i £
O ;

(2) Kidneys Krebs-Henseleit Small
E_:_: cycle intestine

/ Liver Krebs-Henseleit Kidneys
e e e s —

cycle

(49) Liver Krebs Cycle Kidneys

™ H
103. Choose the correct statement from
the following :

(1) Acetic acid is produced by
Asp@:ﬂus mger )

/’EPJ'/Stat@ are produced bY

S&eﬁi{éeoccus R—

3) Cyclosponn A is produced by
Trich Qderma polysporum.>~

4) Yeast is _used for ‘ f
prgducuon ofj..acuc acn:i/v
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oh AT oy a A
LE 3 ﬁsﬁﬁﬁﬂ B . 104. Hard anq stony shells of fruitg and
seed coats are charactenzed by
) o the presence. of :
@ = 13T (1) Thick walled parenchyma
3 (Z) Collenchyma({
(3) I3 Y

Sclereids -

—
(4) € @?ﬁ j (4) Prosenchqu&

105. e & § ST

105. Which of the following sphjncters
APA-STM et a5 oy 3 G

PrifE B guards the Op_gmng of hepato-
o e Pancreatlc duct mto jc_he duodenum‘?
1) B 1 / Pyloric Sphincter
(2) @@W (2) Sphincter of Odd]/O %

O
3) ﬁt{sgaaa'?rmﬁr A (3) Sphincter of Boyden )3
4) ﬁaa%eaaﬁfﬂ‘vﬁ (4) Glisson's Sphincter
106. Fr=ifofaq & @ BH-a1 GT‘ﬂT:ﬁ S| 106. Which of the following amino acids
Fad T e &l @aﬁﬂﬁ B B ° | is coded by only one codon'?
(1) ¥ @ ¥ (1) Serine 4@ Valine -
4 (3) Tryptophas (4) Glycine <
@) fFea (4) TR

10Z. The movement of partlcles or

A
" 1017. :’: ar ’uﬂ; = ‘32 ;1[ G:m - molecules from a region of higher

I
concentration to a region ot lowo

concentration is called as:

(2) Osmosis
mbibition

p.T.O.

(2) IUE™ )] Guttatlor})v
(4) AT (3) Diffusion
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[32/D]
: ' ilibrium, the
' A ® "I @ 108. In Donnan's equ _
108. I°F $ HgAd H H% i
RESMH AT E: O source of energy
g ofionsis :
—
(1) ATP E (1) ATP |
(2) Il PN SAGLTHA TEN g / Energy is not required@
(3) NADH 3 (3) NADH
(4) ADP | (4) ADP

109. f=iciET g+ & & &8 gH/FH H 109. Choose the correct pair/s from the

T FHIY 4 following pairs :

(i) e HgM - R 3(3 B @) Dowr's Syndrome —Tris'ci_'fnyLof
O chromosome 21

(i) FMETBeeT RIgH - %‘Y (ii) Klinefe]ter‘s Syndrome — XXY¥

(iii) T RigH - X0 (iii) Turner's Syndrome — XOt—

el %2 T : Ghoess hecomnot code :

(1) F9 (1) (1) Only (i)

(2) Fa9 (i) T (ii) (2) Only (i) & (ii)

(8) Fad (ii) T (iii) | (3) Only (ii) & (i) %

(4) (), G T (i) ‘taf('i), (ii) & (iii)

nd I

110. fqdifed &9 SEIRUEFRT # feome 110. Stirred tank  bioreactors have

B mar 2 been designed for :
(1) IOE F JEHT B @'q urification of the productio
| (2) 3@ 7 gt &m@% fomT) (2) Addition of preservatives to

.

the product/\ﬂ

maﬁeaﬁehqﬁarﬁr

(3) Ensunng anaerobic conditions
in the culture vessel.

(4) Avallabﬂlty of oxXygen

th:roughout the b1oreactor
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ol
k]

111. Whatis the full form of GEAC ?

] ] . :

( )‘__IGenetxc Engineering Approval
glommunity
()

(2) Genetic Engineering
%&ppre_c_:{i__e_ti_eq Committee 7~

s %Cenetic Engineering Authority
./ § i : ¥ I
C . ! S

ouncil

(4) Genetic Engineering Approval
Committee X2

—

Ne)
112. Chqpse the incorrect statement
o R,

from below:

= :
%pegigs_ﬁiversi_g increases as

we move away from the

_______.-—-——.

eguator towards the poles

P (2) Amazonian rain fc:»_;es_t_ in South
/_,—/—“—'w

Amenca has ‘the greatest

b1od1vers1tg on eartheT
(31\iI'Iop1cs mostly harbour more
v—Bpemes than temperate or
C:polau' aréas 7"
(4) Among animals, insects are
the ~ most spec1es | rich
taxonomic group7"

28 P.T.O.
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113. 2 R W g e @ § W

114.

115.

el # /7T whee gee

e & el WY
™ _
(a) TR (g A A wRge
PRI
(b) TENH (oS @ gRPE  ’we
g
(c) MRRT |srveRE F FE| g
. 3
(@ T |omw -
. i
TSI :
g -
() @a@,
(2) BT (b)
(3) TSl H@ASH T e
(4) 99 (d)

X | Frefafed & A R @ &
AT Hed 20 78 fha wy oor ?
(1) 99 & HR

(2) 7 & 1

(3) I FI fRerfer @
(4) il F SHT

113.

114.

115.

GET IT ON
Google Play
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Select the wrong '::r.:'mbmanons

from the given ta:kale with the hej,
of codes given b&)w
Name of douxce Nature
hormone
(a) Testosterone [Leydig cell’s | Steroid
i of testes
(b) Estrogen Follicle cells Steroid
Sl ovasy
/l-(c) P1:9g§_sterone Corpus SLe_e;gd
luteum of
: ,_4&1 Y
-T‘Id) Human_p((y [Plagenta Glyco-
Chonomc g_ protein
Gonadotropm s
P
Codes : 0o

(1) (a) and (d)

A Only (b)

(3) All combinations are correct
(4) Only (d)

Which of the follomng_tralts was

not studied by Mendel in Pes ?
Flower Shape

(2) Flower Colour ot

3) l:'lower Position*—

(4) Pog"Shapa/%.z'

When uteri partuﬂly fuse so as to

form two horns Ed two separate
lumens Inside, it is called

(1) Bipartite Uterus

(2) Bicornuate Uterus.~
(3) Simplex Uterus. |
uplex Uterus
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(b) TR oy
() &9 AR [
() T o ©

(1) @3 (b)
@) @3 (e
(3) (b) T (d)

J102¢6l

4 T @ M~

N2, Frefofe # & DA FoT T

r

(l)ﬁ'ﬂﬁquﬂs‘n?mﬁﬁﬂ?fﬁ”ﬁ
B =Rl =

GET IT ON
| Google Play

(@) Sweat Glands |
malivary Clands: '

((C'r Mammary Glands

(d) Sebaceous Glands

S_elect correct answer by given

codes :
Codes :

(1) (a) and (b)

| |
@ @ade
[ ma @

(4) (c)and (9)
117. Which of the following statement is
wrong ? : Feed 5 e
(1) The culturable fish should be
herbivorous in nature. T
The culturable fish should be
fast growing.”
(3) The culturable fish should not
be unpalatable.
The culturable fish should not
be Lp_x_'cnlj_t’ic breeders.tg

<

P.T.O.
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118. NIRRT = ¥

(1) orfsY ort &
(2) IQ1 oA B
(8) IAT P

(4) FEEEST B

119. Rewliv 3 dof & wef Fu/FEA

B T AR RY W g weHd §
T

(@) T g Ay IoRem & ¥
(b) TH IR A AW BF A AR
T8% 9 o3 o B

(c)@%%mﬁamaﬂ’t%l

%c -

(1) a9 (a)
(2) ()7 (c)
3) ()T (c)
4) @7 (b)

120. % 9 & AT A o 3

jon

(1) GHRTT 59

E" Il_.'r’_.' =

(2) ﬁﬁ??)?wa;ﬁaw

(4) THRTT B
-3/5317]

GET IT ON
Google Play
i
;

118. Prostaglandins are derivatives

(1) Amifig acids”

(2) Fatt)gcidyo

(3) Proteins

% Carbohydrates

119. Select

the correct stansarme;wE
about Osteichthyes with the hejp

codes given below :

(a) Air bladder is present.

(b) 'I'heyt—;have four pairs of of gills

wl'uqh are covered by an
o :
opexculum on each side.

(c) Plac6id scales are present on
S b el

i S i

Codes :
(1) Only (a)
(2) (a) and (c)

I (b) and (c)

(4) (3) and (b)

i

120. Black wé?er fever is caused by :

"'\

'I

(D) Plasltnod:um ovale >
o
(a) Plasmodium vivax

/ '
_ W}asmodium ‘malariae
W

Plasmodium falciparum

-l".i.

:l'.‘

-
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123.

g

122.

UFH BEH B AR HA

T TN oo
RAME . TR e
(€Y Y%ﬁqa?

(2) 8 3 7 8 s

(3) 8 ¥ 7 7 sy -

(4 T 35 T 8 PRy

RUBISCO %% 3 fiym ,

(1) RIAT 1, 5 e
) RIAT 1, 5 Rrgrae
3) RIAT 3, 5 Femiee
(4) RGeS 1, 5 v

fFelaiEd ¥ 9 FFa FR oF
T Iugn
B e 7

(1) % 1T
(2) #E 1T
3) FE 11T
(@) A 1o o A 0,

GET IT ON
Google Play @
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A typical Angiosperm embryo sac
at maturity is : '

121.

(1) 7 Nucleate and 7 Celled
(o) - ;
(2) 8 Nuclegte and 8 Celled

[ ]
& 8Nucléate and 7 Celled
. (4) 7 Nuclegte and 8 Celled

122. The substrate for
enzyme is :
(1) Rilggulose‘l, 8 biphosphate
, (2) Ribulose 1, 5 bisphosphate
' (3) Ribulose 3, 5 bisphosphate ‘o
%{ Rlbélo;_%} 8 c!i.p_hoépl'_lqte)a .
e

RUBISCO

—

oy
123. Which of fhe following is a 'cry’
gene.used to c@r;trqi_gg;n_b_o&r ?

(1) Cyllc
(2) CrylAb
(3) Cryll Ab

/ﬁoth CrylAc and Cry I Ab

124. What form of energy is ragiiate,d
A ! l_" St .
by the Earth which is absorbed by
" Green H{'é\]jlse gases to cause,
Global Wathning ? .
@)) Ultra\n%et Rays}____{'
(2) Visible Rays *

S Intrared Rays.

(4) Radio Wave870
; P.T.O.

‘_—‘~
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W 8. .Choose the incomrect pairp, i
125. Frfem 3 @ g A @ il trom the following with the hely
IR RY A gel @ e A A codes given below :
(@) orefia ot ory e o - (@) Acidic amino acid ~ Glutamic
(d) W® () - ¥ [ f Basic WQ acid - Valme
ST S -~ Lysine
Ko e s . —7/]1@7 Neu e : <
(@) TR SR oFw — BT s mmf%m@_md B
g - : Codes :
M ® @ (1) (o) ad ()
@) 39 (c) A Qaly=(c)
®3) (b), (c) T (d) (3) (b), (c) and (d)
@ 3@ (4) (c) ang(d)
| .ot S
126. 3o FoE d MR FH H wEn P 126. Calculate‘_{he number of bas
T FY, AR TED o To 'io I pau's in E‘Cbolz if the length of it
g 1.7 foedt ® DNAlsl'Imm
(1) 2x10°bp  (2) 2% 10°bp - (1) 2x 106bp %’fzgx 10°bp
(3) 5x10°bp  (4) 5x 10°bp @) 5x 10°bp @ 5 x 10°bp
2 Bhegs
121. @577 3 gaE 5@ darq CES 127. In corallqjgi roots of Cycas, ¥
. wa GﬂﬁT B algal Zonﬁgls Present in :
(1) i T ¥ % | R
::: m:ﬁ P (2) Middle Cortex-
; &7 j Between epidermis and out®
™ cortex :
R e & (4) Outer cortex
-3/5317 ] _ [
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s | R N = '
ﬁwﬁrﬁaa. - [39/D]
|f ﬁw aﬁ 5 / aﬁ-{ w
128, Read the ¢ i
; ollowing statements and
2 o an
T URY STy = f?’ﬂl : choose the arrect option :
. [
@ 'JTﬁF[ a ﬁ}m For a plant @ecies:
s Y
AR 3 ST R %_l = /(;\3’ Ecads are morphologically

T different and are interfertile.

(b) Ecotypes are Ager_t_etically
¥ differ@ and are in'fﬁ;rge.. F
o o~
, =
1 @F (b) Eﬁf G - N (1) Both (ajand (b) are true.
(2) (@) T (b) A T ¥ (2) Both (a) and (b) are false.
3) EEK| (a) T 2l % ﬂ‘?nly (a) is true.

(4) 3 (b) TE B | 10 onyh)is oie

129. Choose the incorrect pair from the

129, ﬁwﬁmﬁﬁwﬁﬁiﬁw

e 'foﬂomﬂng ;
ey
1) “_Cormnq;u:Cold — Haemophilus
v 7
B influenzae
(2) Malaria - Plasmodium ~7—

Mﬂg‘vorms —  Microsporum P

(4) Elephantiasis — Wuchereria f

P.T.O.
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130. 9FE A # Prefarag § 4 oA
STgad® Ay w78 B

g7

(1) wRaRe (omsRe) o
(2) e = o
(3) FEN F -
@) 9 A

131. 3R 3 Ryq St O guied &

(1) M ofy &

(@) g wifer §

(8) SI@ Uit T STy Wiier
(4) STETe i & [g

132. Prfafag § @ ﬁ?ﬁw Ca
TS gE w7 N

(1) 99 ag 2) J= g

(3) e &g 4) ¥ TrE
133. Frfofed =@ & & R

STl g L

A A TR B g ¥ 7

() T ©2)

(3) A (4)#%7?77

134. aﬁwﬁmmﬁm%ﬁﬁt&%:

GET IT ON
Google Play |~

following does nOt Iepreser

Refracting media ? |

/ﬁis}
P 2
/" (2) Bgueous humout

\(8) Vitrous humour
(4) Lens!

131. Broca's area of speech is presy,

in: [ d
(1) Parietal Lobe
2) Temporal Lobe

‘/@f Temporal and Occipital Lobe
(4) Frontal Lobe

e

132. Which of the fo]lowmg 1S most =

pu.rlﬁed form of Lac ?

(1) Seed Lac (2) Pure Lac

(3) Sheet Lac Shell Lac

133, Which of the following plants does}:
ot produce both chasmogamousj =

and cleisto Jamous ers ?
Yol

(1) Viola

/ﬂ Rose

134, Cotton ﬁbres are botanically :

‘/(‘l’f Bast fibres.

(2) Xylem fibres
(8) Phloem fibres %
(4) Epidermal fibres

(2) Oxalis

(4) Commelina
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b G-ﬁ"e;f ¥ ﬂﬁl?ﬂ:?f o 135, During Which phase of cell cycle,
(1) G1 f::lsicateﬂil:t. paire‘fl Fentrioles
il O two pairs ?
@ s Sl 5
®) Gz il ks
gD \ (3) G2.
m A
£ .

136. Which of the following is a

homosporous Pteridophyte plant ?

136. ﬁ?ﬁf@aﬁ@ﬁmm@m

(1) Selaginella -

&P e / (2) Marsilea
; (3) Feetifzar =3) Salvinia
] ‘_| .
(4) sFEhfaer g ' (4) Equisetum
S ;
—
137. 59 % 9 A fqee; fmar o g, @ 137. When solute is added to pure
ST 999 & A ; ' water, the value of water
) potential :
es 5 i i
i (1) I Y&l 2l (1) remains zerp
' E 2 S J gg Il 2l ecomes r_r‘lqrg:c}lagze_rp.\-“

(8) becomes less than zero.

%oes not change.

138. The translocation of sugars in

angiosperms occur in which form ?

(1) Glucose/® )@(Sucrosew

(3) Maltose*>= I Fructose

Rk O.
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139, A ) YR F FE

140.

141.

(l)m:ﬁaﬂ'{m%mm
P ST

@) wﬂmﬁ@ﬂml

(3) SR G
4) oot faeq !%! gl

iR R M ge # wea ¥ g
(@ M@ a1 - 9@

(b) TERARE WM~ FOE A

© ﬂwﬂﬁ@% TErTH

@ ﬁaﬁﬁr@ﬁaﬁm- ENIREET

ge - i

1) @, (@3 (@

(2) Fa9 (a)

3 (b), (c) T(d)

4) ()3 (b)

ﬁwﬁ-ﬁtﬁﬁ@rﬂ?ﬁ?ﬁ H
fasear 72F 2 ? W

(1) 78 O T AR Y

@) % T 5 o e

GET IT ON
Google Play

139. Dormancy of seeds 15 caused by :

(1) Impermeabﬂxty of seed coats
to watgr a.nd oxygen

(2) Immaturity of the embryo:”
/ Germination inhibitors:

(4) All the options are correct.

140. Choose the correct pair/pairs
from the following by using codes
given below :

(é) “Minamata disease — Mercury

(b) Byssinosis disease — Cotton dust
(© -Kxibck—lmee syndrome — Nitrates
()] Methaemoglobmamua -Flourides
Codes

1) (), () and (df

@ (@) only e
AT ), (@ and (@)
(4) (@ and () o

141. Which of the following is not a
characteristic of humus ? '

(1) Itisa Teservoir of nutrients 7_

(2) Itis a dark colored amorphous

substance‘?

(3) It undergoes decomposnmn _at
a very fast rate.

ﬂ It is colloidal in nature,
‘___—H_-_‘—_'_‘_‘——_._
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(395 TeL
@ Fi o (i) g
(b) B ~ G -
(i) ot

(c) Iq 2 (iil) ey
(@ & (iv) BT
ze - |

@ (b © (.

@ @ (v @) .(i;i)
@ ) Gw gy g
@ & @ @
@ v @y G

o
_ -

143. MN ¥ §98 IOl & fow M oiv N

Pl SMGrAT FHAM: 0.6 AR 0.4 F

MN & T9e ard eAfRdl & T

i Hwaa: erfl

@

(1) 42% (2) 82%

(4) 48%

(8) 21%

GET IT ON
Google Play B
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142, Match Column - 1 with Column - 11

anle select the correct answer
using the codes given beloy

Column -1 Column - 11
(Commodity) (Source)
(@) Quinine (i) Roots
(b) Coffee:_‘ﬁ, ii) Leaves

(c) Tea ~ (iii) Seeds

(d) Heeng 1v) Bark G~
Codes :
@\ () (d)
(L) “()*'aw) (iii)
(2) () | (@v) ¢))
@) @) ) (i (iv)
% (avy (iii) @)

143. For the MN blood group system,
the frequencies of M and N alleles
are 0.6 and 0.4 respectively. The
expected frequency of MN blood
group bearing individuals is likely
PR B ST
(1) 42%

.
: '\*'E
219 :

144. "Which of the  following
characteristics ,ig__A__qg_t_I_g,g for_alt

cyanobacteria ?
i 3 ay .
(1) They have the ability to fix

atmospheric m'trogen.T
(2) They lack a _membrane bound
nucleus.
They contain chlorophyll ‘a',
(4)' Th;ir‘_:lcell wallr'ig not_r_nade up

of cellulose. 4
P.T.O.
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145.

146.

Ay o H ST B o
FEH B B wEl B AN A TR
AR RA W e # qEId A R
P

(@) SN

(b) 7Y T

() | HFE

(@ T

%< -

(1) @), (@), (), (c)
(@) (c), (d), (b), (a)
3) (b), (0), (d), (a)
4) @), (b), (0), (@)

PAHL B FAH-IL A G B
T A= Ru T g #owermar @

F& X H TAT BN
-1 PEH - 11
(@ TE EE () 2500-3000 Ryl

kLK
() ST () - 1000-1100 foreh
G e ;o
(© frsae. ga i) -s00 R g
CIEGE]
(@) SERME AFT  Gv) 1100-1200 it

B85S
© ()
() )
()< (iv)
@v) (i
() (i)

%4

> il (v) . Gy

GET IT ON
Google Play
i3

145. Arrange€ the parts of artificia] hive

used in apiculture from bottop, :
top with the help of codes Give,

below:

(a‘),_-Hltve C&lllﬂg’

(b) Super ChamberZ.
(c) Bfopg Chfml?ef,ﬁ
Codes : —

1) @, @, ®), ©
2) (©), (@), (b), (@)
%b), ©), (@), (@)
AT LR5-Q

146. Match Column -I With Column -

and select the correct answe
using the codes given below:

Column - I Column -1

(o)
(3) Tidal ?‘g‘ium / (1. 2500-3000 ml of
A air
(b) Inspiratory (i) 1000-1100 ml of
reserve volume ai

(¢) Expiratory

(ifi) 500 ral of air
reserve volurne _

(@ Residual volume (iv) 1100-1200 ml of

@

Codes :
@ ® © @
MW o oa@ o

@ Gy oy (ii) (iv)
® i) (if @v) (i)
@) (i)
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yl. T 3 o Q% [45/D]
TSI ey =) e o
kg DEHr{l 3 A52 147. A sinql
A Y e ST # o O  frensames that
’ WTH[Q% : contains one copy of each type of

chromosome from a species
5 - pite) )

(1) ST B ‘ L ?

(@) ”111 I a_d (1) Ha}:;loid set_/@
— _
3) GT@&’I'H qe ‘C{JI - (2) Monoploid set 1~
= R
(4) fﬁﬂﬁ‘!ﬁ qe o (3) Aneuploid set

——

¢ %Diploid set

8. Feed % & g a4

148. Which of the following disease is
not cauie{d_ by Hyperthyroidism ?

(1) & I “(1) Basedow's disease .
(2) BIAMEEr AT - (2) Hashimoto's disease
(3) TS At ‘ . (3) Exophthalmic goitre
(4) W ﬁj‘l’ %Plu.mmerls dlsease :
149, R & @i aa H, faee ard 149. Inithe Meridional plane cleavage,

the cleavage { furrow is formed :
(1) Above equator
(2) Below equator
__._——-——__'-""_:'_'—-
(3) Pass through horizonizil__ axis gf
egg
Pass through animal & vegetal

poles from the middle

P.T.O.
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Msmj
150. Frefed ¥ ¥ 7w SNS/AEA B 150. Choose the] incorrect pair/pajy
™~ \
2 RY ™ g N FEE A g from the following by using codeg
i
@ P given below
. /ﬁiﬂeophmsm —  Species
S RREEK] - ReaRar wrdv | Plantarun |
(c) T AR - AT AR foy Linnaeus | = Historia
‘ ; Plantarum
| @)\ GaspardBauhin ~  Pertax Theair
| | = Botanic
; e . -—
(d) FeH AR B - FHT AT o ; e
g | Hooker . Planamn
1) 3T (@) % Codes:
2) (a), (b) AR () (1) Only (q)
3) (a) IR (b) B ang (c)
o | : (3) (@)’and (b)
9 @ 0@ (4) (3, (b) and (q)
v
O
N
e
a
Q

P
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